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· Part -'III 
COMPUTER SCIENCE 

Maximum: 60 Scores 
Time : 2 Hours 

Cool off time : 15 Minutes 

General Instructions to Candidates : 

e There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs. 

il You are neither allowed to write your answers nor to discuss anything with 
others during the 'cool off time'. 

• Use the 'cool off time' to get familiar with questions and to plan your answers. 

® Read t h e questions carefully before answering. 

1111 All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from the 
same question itself. 

• Calculations, -figures and graphs should be shown in the answer sheet itself. 

e Malayalam version of the questions is also provided. 

e Give equations wherever necessary. 

• Electronic devices except nonprogrammable calculators are not allowed in the 
Examination Hall . 
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1. The steps in data processing are 

given in an improper order. 

Rearrange them properly. (1) ® \m1 ru1 cOO 6 em 6. 

nJ,J,ffilcfloalicBo<ll1cOOJ,cflo. 

CJ?J<ll1mJOmJl 

Input of data --7 Preparation of source document --7 Manipulation of data --7 

Storage --7 Output of information 

2. .. ............ are the special storage 
I 

locations within the CPU. 

3. What is the output of the following 

code segment if the value of N is 10? 

switch (N%2) 

case 0: cout<< "Even"; 

case 1: cout<< "Odd"; 

· 4. In C++ programs, comments are 

(1) 

(1) 

written using ........ .... and .............. (1) · 

5. Write a C++ statement to declare 

a 2D array for storing integer 

elements of a matrix of order 5 x 4. (1) 

2. CPU -oJlffi6c£h~16l8J LoJ~®,)cflo ~~0~0@;1" 

6l8JO~c00crl:lffi6c£h~06ffi ........................ . 

3. N- 6l cip, ru1 eJ 1 0 ffi'@ w o ca .2J6 ru 6l s 

6l cBoo s 6 mm1 ru1 c00 6 \m ~ ca,o cur m cBo eJ mm16l cip, 

63'U§'nJt,§ nti)mrlOcoJlru1cOOt,o? 

switch (N%2) 

case 0: cout<< "Even"; 

case 1: cout<< "Odd "; 

4. C++ ~LnJOLWOQl,J,c£h~1co'n c£h6ll1lcfj>,J,cflo00 

,GB)':96®2,\m®1m .............. ~o ................... ~c 

~nJ~mJOW1cOO,J,Cm,J,. 

5. 5 x 4 63o<'llcwo1eJJ,§§ 63<ll,J, 6lalLS1cfu'cru16leJ 

g:Qcf/>,1@;1(/). c'ruo6lJ,)cflo6l~ ~~o<'ll 6l.2J<IDOmo 

ClJC/lJ,)QlOmJ 63<llJ, 2D mYCJ6lO cw1~m;(ll 
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(1) 

(1) 

(1) 

(1) 

6l.2J<IDom~ C++ ~AAR6lm6lcfj>,':9t,®,J,c£h. ( 1) 

K-23 2 



6. N arne the C++ function to compare 

two strings. 

7. \\-:·i:~ ::-.e four utility factors that 

a:=:t:-c :ne value of information. 

8. Di stinguish between a compiler 

and an interpreter. 

9. Name the topology in which all · 

nodes in the network are directly 

connected to the server. What is its 

major demerit? 

10. Write the debugging process 

involved in the translation and 

(1) 

(2) 

(2) 

(2) 

execution stages of programming. (2) 

11. Identify the invalid identifiers in 

the following list of C++ tokens and 
/ 

write the ·reason for · each. 

Cpp short 

a&b KL01 

"12.34" 2K 

K-23 

(2) 

3 

6. (l)Gn5v 

6illOW1c006Cffi moe.r WJ31eJl81 0£JScfu6m3ciiJ 

nB')'5'6®6<ili. 

8. cfuo6)6)Cl.Je.J06o g;)2cVJiOlnJ306o ®am1e.J6~ 

ruJ®Socru6)mcrm? 

9. 63(l)6 6)ffirJruiO,oo16)e.J ~o rJffiOCW6cfurJ~CllJ6o 

rJ m (l) 1 3v 6) ffi) ro OJ 0 6 Ql 0 w1 6QJ crw1 <;dl cOO 6 em 

rJ S 0 (}l ':l:P ~ g:;;1 CllJ 6 6) S (}l Cl.J 6) (l) (!1j)v? {lffi) ®16) <VJ 

ntf3ROJ6 o ru e.n w Gl nJ oroo w m nB)r®? 

O£J 3 ®ID1 e.J6 0 nB)cfuvffi)1 MJJ <191 lib O£J 3 ®ID1 e.J6 

Ol6 ~ cw"JmJ e&1 0 CJ)v l Cl.J (lJ iO cnJlj) m 6m3 cfiJ 

nB')'5'6®6cfu. 

C++ 

rJ so c00 6m 6 cfu ~1 am 6) nB> cw <VJ1 nD w o 6 cfu ~ o mJl 

~ nJ Gl (ll) 0 w1 cOO 0 m 0 (lJ 0 ®ID ('Ll n@ 6) .® (ffiv 

cfu6)6n5®ID1 630rJroorm16)oACllJ6o cBoOroGmo 

Cpp short 

a&b KL01 

"12.34" 2K 
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(1) 

(2) 

(2) 

(2) 

(2) 

(2) 

(P.T.O;) 



12. Read the C """- .o t8.tements : 

int a=- ~=~ , x =2 ; 

floa': :.: · · 

What '.':ill be values ofy and x after 

the execution of the following 

stat ements? 

a: y = a I b % b; 

b .J X += ++b; 

13. Rewrite the following for 

statement using a do - while 

statement. 

(2) 

(2) 

719 

b =3, -,-= ' 

- - - - "-
~-- =·- ~ ; 

a ) y = a I b % b; 

bi X += ++b; (2) 

do 

(2) 

for (int N=125, S=O; N>O; S+=N%10, Nl= lO j; 

. cout << S; 

14. The header file stdio .h piovides 

functions for input and output of 

strings. Write the names of these 

functions and explain how they 

differ from c in>> and cou t<< 

respectively. 

K-23 

(2) 

4 

14. stdio.h 

m,hs!o(I)J,cfhcill gQcThrLJ d §~ C: .'2.iCillJ,tTn®1mJ,o 

63~~{oJ J,§u 6).2..! gj~IT; ®l ffiJ,QlOOJ CIO~QlOCQJ 

cin>> , cout<< ntj)tTnlruCQJlm'n mlcrnJ,o 

ntJJ 6013 6l m OJ~ ®~cru"(Q) Ql OcfhJ,tTn66l ru ern" 

ru1CIOBQlOc.OOJ,cfh. (2) 



15. Match the following : 

Number System 

a) Binary System 
-

b) Octal System 

c) Decimal System 

d) Hexadecimal System 

Answer either question 16 or 17. 

16. Define a user-defined function that 

can accept two numbers on calling 

and return the sum of their squares, 

(For example, if 2 and 3 are passed 

to the function, it should return 13, 

which is obtained by 22 + 32
). 

OR 

17. What is wrong with the usages of 

the following functions? 

a) tolower ("hello") 

b) pow (5, 2.5) 

18. Convert the decimal number 135 

into the other three number 

systems. 

19. Usually, a URL consists of three 

parts. Write an example of a URL 

and identify these three parts. 

K-23 

(2) 

(2) 

(3) 

(3) 
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(2) 

Features 
-, 

I 

i) B is a digit 

ii) 9 is the last digit 

iii) There are 8 symbols ~ 
iv) Place value of digit will be power of 2 I 

5 

_j 

16, 17 ntj)rrnl a:.2J:::>Bc)60B§.1co'b C1@6lCmffi>1eJd,o 

636lC?l6~wn-®1m ~(ljl'0)(?)6)Ql'.i'6(Q)6cfu. 

16. C?l6irSu ((Do6llc)c6ocJb cru]1c6offil.g,C (GJMlJCWJ,6lS 

ruillw60B~6ls ®J,c6o ®11-o16l£ mco'b£z,nn 63illJ, 

CQJ J rru ill-cw16l6lruKiDM oil ocr.ln.'l::l ciD O{j) '.9 6 ® J,cfu. 

(~BOnDC?l6ffiQJ:)CQ)l, 2, 3 ntj)rrrli ((Do6llc)cfuC,1l 

oil 0 (l)u n'l::l m1 a: eJ (Q)u ceu-r nJ :::> m.r 6l _2_] (Q)u(O) :::> co'b 

17. .2..lJ,OJ6lS 

oil 0 CJ)u n'J::l ffiJ,cfu§_J,6J S 

6l®R6c6o6l§_6l@~:::>o? 

6l c6o :::> s 6 (010) 1 ro 1 cf16l2, em 

~ nJ a: CQ) :::> (!) (O'(Oil6l eJ 

a) tolower ("hello") 

b) pow (5, 2. 5) 

cruo6llc)O 

l1l:::>R16lCW':i'J,®J,c6o. 

19. ('(D:)W:)(()6n)CQJ:)Wi 63C?JJ, URL - co'b Ql~(!T)u 

@ :)(!) 60B §.6 61""@. 63 C?l 6 ~B :::> nf) C?l 6ffi 6l QH 6 ®1 gQ 'D 

@:)(1)60B cJb cfu6) 6lrS (ljl'O) Z,cfu . 

(2) 

(3) 

(3) 

(P.T.O.) 



Answer either question 20 or 21. 

20. Write an algorithm to display 

the even numbers upto 100 in 

the reverse order. That 1s, the 

output should be 100, 98, 

96, ..... .. .... , 4, 2. 

OR 

21. Draw a flowchart to print the first 

10 muitiples of a given number. 

(For example, if 5 is given as the 

input, the output should be 5, 10, 

15; .. .. ,50). 

22. Write the significance of C++ type 

modifiers in variable declarations. 

Give examples . 

23. Read the following C++ statement: 

int ar[] = {12, 34, 5, 25, 76}; 

a) How many bytes will be 

(3) 

(3) 

(3) 

allocated for this array? (1) 

b) Write a C++ for loop to display 

the even numbers in the array. (2) 
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20, 21 o.mcm! <E.2.JOG,J66B~1am "B36l®ffu1e.Jc~o 

e6lffi6,WC01'm1m ~(0":'0) (1)6)(1)'96®6cfu. 

20. 100 :-c.: C::0 Cl2J2,~ ~ro3 m.>o@j,)cfuUO 

®0 C.! 1 -: : ::..'": 6TD l cEb aJ ®m1 am Uu1 cfff 

6l.2.J :;:;r::c5fm~ arroam(g(I)Offi1®o ntl)'96®2,cfu. 

®O®:JCQ)0)', 100, 9.8, 96, ............ , 4, 2 

ntl)(f:)' 0:36lffiWOmJlro1c006ffio 63 "J§nJ~ .• 

arm 6) §!~a> 1 am 

21. 63(1)2, (Tl)o@J,) g)2cflln.J2,3u 6).2.JCQ)u@ ®0®16)~ 

ffi© G~, 61(0":'0) 10 ::.~~ST. C'": 5ffi3 G~ ~nJ1~u 

m~ceo1woam 63"J§n.J6§0m5l 5, 10, 15, 

50 c6o1§ 6mo. ) 

5 

22. (gOJCb1wGru1un cw1ct;B{gOn'l:Jm1am C++ 

6l 6l s <;tju (g aJ o cw1 nil w o 6 cEb ~6 6l s L nJ m> c:6®1 

O{j)6l mJ)6)ffi)'9 6®6cfu. 

mamc6o2,cfu. 

23. .2.J2,0J6ls 6lcfuOS2, ®Dl1ffi1d:h>12, rm (g@rr6lm~u 

OJ 0 mJ1 c&£) ,J,cfu . 

int ar[] = {12 , 34, 5, 25, 76}; 

a) g)2"J ffiY1l6lowcOO' O{J)L® . 6l6lGruR 6laJQl2lo1 
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(3) 

(3) 

(3) 

ffiY1l<Ee.J0(gcOOA 6l.2.J~,J,o? (1) 

b) g)2"J ffiY1l6lOW16le.J ~ro3 m>o6LJ,)cfu6l~ 

G,)(J(),)aJOcOOOffi~ e.lJ';l:[ O{J)'9,J,®,J,cfu. (2) 
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24. If AR is an array. with lower bound 24. LB n{j)rm ~e.Joruill 6ill'D6Tl5Jo UB O{j)<m 

LB and upper bound UB, write an ®OQdill 6ill'D6n56!1l6~ 63(()6 ®06lowo6ffi AR 

algorithm to sort the array using O{j) tB> 1 rlf6 , ®'O®J6lffi 6QJ 6QJJ ciD ~cru:::>ill?.{ 

the Bubble Sort method. (3) aoill(J)Ql6n.J~CQJo(J)1-8J <ll'@~roonn6m lcfum®m1ill'll 

lcful!li cfu(()JcOO.J,<m®1 ffi6~ ®llm'C~(J)Oroi®o 

nq)'9.J,®J,cfu . (3) 

25r The following figu.res are similar to 25. !.UJ,OJ6lS 6lcfuOSJ,®m1m1cOOJ,<m .2..flL®6m3ciO 63ffiJ, 

a data structure. What is the name ClD:::>fp m5Lscfu'!.Uo1m crumomaJo6ffi. <ll'@ MoAo 

of that data structure? Write an m5LSdi'!.lJo16lrVl ~n.J6lrormP g)2®1ill'll m1<mJ,o 

algorithm to remove an item from 636lro~o micOOo 6l!.U<mJ,<m®1m6~ 

this data structure. (3) ®llm'C~(J)Oro1®o O{J)'9J,®J,cfu. (3) 

26. A function can be invoked by two 26. n.J o rn 'o aJi A ill n.J ocruu 6)_!lj S2J.J,<m®16l<'(IJ 

methods based on passing the ®lls1cru.oom®m1 afO 63ro6 nil 0 (J)u ol:l6) m (Q6T1'5u 

parameter. Which are they? How mi®1CDJ1ill'll l nJ OJ ill <O®l ~~ cB6):) 0 . <ll'@ 

do they differ? (3) Ql 0 ill (J) 6m3 ciD nffi6l®~Oo? ®CIOJ ®C!Ql')e.J6~ . 

OJJ((j)J:)ffi)6)QlmD? (3) 

27. Explain the functional units of a 27. 63<1l.J, ~·rn6lJ:::>.2.1lL®®m16lrVl mJnDOCQJ~®m06lS 

computer with the help of a block cfu ffiJ.)~§ o16l rVl nil o(J)u ol:l6m afO w ~ 6m1 A6ce, ciD 

diagram. (5) oJl C/1) Bl cfu(QJ cOO .J,cfu . (5) 

K-23 7 (P.T.O.) 



Ans•Ner either question 28 or 29. 

28. Write a C++ program to input a 

number and display all of its 

factors. (For example, if the input 

is 28, the output should be 1, 2, 4, 7, 

14, 28) . 

OR 

29. Write a C++ program to input a 

number and find the number of 

vowels (the alphabets a, e, i, o, u) 

in it. 

(5) 

(5) 

128, 29 o.(j)ffil"l <8.!:LIOB,)66B~1(0'3 <1@6'l®ffi:.1e.J6o 

636'1COGJ;l;l®Ol1m ~®Q)(()6)Q)':f'6<15l6cfu. 

28. 63C06 m.lo6)JJ gQ®nJ6§ 6).QJ~Oa\;o mro®16)0$ 

~Scfu60B6)§_ 63'D~~:j"nJJ,§OCQJl cfu1§6ffil®1m!,l1l6§§_ 

C++ <llLCLlOLWOo n{j)':f'J,®,l,cfu. (~BJnDC06TDQlOCQ)l 

28-6'/m gQ®CLl~ 6'1!2JW®oro'O 1, 2, 4, 7, 

719 

14, 28 o(j)ffil1ru 63ro§nJJ,§Om e.J<Sl.oosmo). (5) 

8 

29. 63CO!, mllSloW gQoOo.J~ 6).QJ~Offi.!,o mro<15l}6)e.J 

(',j ru am m.l16) 0s ( a, e, i , o, u o.m ffili 
mrocW:Jco60Bcm) Cl{])~o cfu6iTSJ,nJisl.ooom6m~ 

C++ <8lCLl0LWOo n{j)':f'J,®.!,cfu: (5) 
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